St

(se the r
1',:;, fici r bisector, an angle bisector, oL {0 decide

,',"

_LAC altitude 29. ZABD =
3 D ABD ACBD a“!Ilt% blsector B

1 dian
ABD - ACBD hlsector

'{a' .‘A ndicular 33. BD | AC and AB = CB A D C

ﬂ"ﬂe ;pdﬁ'“&’ .

erpe Perpendicul > *"z ar
J . l easngn Rgalgblzgctgro 8 ar bisector, angle bisector, median,and altitude a are GO“OI'JIQ@‘ , { m,, gles ar
8 g er fl‘Om Smallest v" | .
(o largest § congmgn((hyﬂ]g. YO e ’1’ ONE ruence
e 35. | — 36. B Postulate, and Gomt@ ‘U
. - - Em G <8 parts of congruent trian Iw
sl congruent.
| | a' 2 f o . =l 47. =; the triangles are congruent
S GRL /R0, /P i e K EF, EG, FG, 2 G, 2 F, L E by the SAS Congruence Pt stulate,
, ap, P ib/_i l“_ JK. LK, JL, 2L, 2 J. /K and corresponding parts uf -
155 Mﬂ"b‘: ;l:; g(()):lsl . ttaw cz)nsgl:;ss of the third side of the triangle given the congruent triangles are col
jengths
48. <; if two sides of onekman,d
37, 9 inches, 8 inches 38. 24 feet, 13 feet 39. 3 inches. 9 inches are congruent to two sides of
| .. <t£ 1<7117n|cnhes P LR 6in.<f<12in. another triangle, and the included
- 40, 1100 29 » 4 Ieet, 2 yards 42. 2 yards, 6 feet ~angle of the firstis Iargerthan!hp'
§in.<f <29in. 2ft< /<10t 0ft <l <12ft *.’

included angle of the second, then

36 Copy and complete with >, < or = . Explain. 43-51. See margin. the third side of the firstis longer

- @8.LN_? PR 44, VU _2 ST 45. mLWYX 2 mZLWYZ " than the third side of the second
: . ~ (Hinge Theorem).
. : 49. >; if two sides of one triangle
i S T are congruent to two sides of |
| < e another triangle, and the included
2 \\M’/ angle of the firstis larger than the

A

( -

P

| - | __ . the third side of the firstis longer
50. >; if two sides of one triangle
L  of the first is longer than the third , J
" : . 10 5 than the included angle of the
‘ i : W
| ; . 3 51. <; if two sides of one tria

6. mLl_ 2 mc2 7. SRt MO 2. Rl than the third side of the second
are congruent to two sidesof
iy =1. mZ5 2 mZ6 side of the second, then the |
second (Converse of the Hinge
are congruent to two sulgs f
P —

included angle of the second, then
/ N (Hinge Theorem). |
N\
F\
AP NP s another triangle, and the third side
. 50. mZ£3_2_m
49. GH ? QR o0 WS | ~ included angle of the firstis [ame;
Theorem).
another tnangle, and tlle { [‘E i f €

Extra Practice 905 of the first is longer than !
side of the second, llm th
included angle of the fir

than the mclndm}b f
T, ent to two sides of another
ik sides of one triangle ate %0 larger than the included secoudw(;&onw € 0 ‘-‘ the

i the first is
ft i»», -B':::;'::: t:l;gtl:;(: su: of the firstis longer than the third Theorem)

he s ﬁ e'l'heorem) o TIL [y " .
two sides @um triangle are congruent to two sides of another
two sides of one tri f the firstis larger than the included

OF LT de of the first is longer than the third |

O T TRy T O AN B

p—

|
i

€, 8 ‘v,_,;.u:v 2‘ ud dg _
| | ’ '.» v ‘,’,', .c' " P ,.‘, . ‘ |v




